https://lwww.leads4pass.com/h13-629 v2-0.html

L eads 4 PGSS 2024 Latest leads4pass H13-629 V2.0 PDF and VCE dumps Download

H13-629 V2.0R%As

HCIE-Storage (Written)v2.0

Pass Huawei H13-629 V2.0 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/h13-629 v2-0.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

H13-629_V2.0 PDF Dumps | H13-629 V2.0 Study Guide | H13-629_V2.0 Exam Questions 1/3


https://www.leads4pass.com/h13-629_v2-0.html
https://www.leads4pass.com/h13-629_v2-0.html
https://www.leads4pass.com/h13-629_v2-0.html

https://lwww.leads4pass.com/h13-629 v2-0.html
2024 Latest leads4pass H13-629 V2.0 PDF and VCE dumps Download

QUESTION 1

When configuring the protection level of Huawei OceanStor 9000 directory, if the data protection level is set to 4 + 2, the
corresponding metadata will generate 3 copies of the same mirror.

A. True
B. False

Correct Answer: B

QUESTION 2

When one of the nodes in the Huawei N800O cluster fails, the service IP address of the node cannot be accessed.
Which of the following methods can recover the affected services?

A. Restart the failed node

B. Use the other node\\'s business IP access

C. Only manually switch the node\\'s service IP to the remaining nodes
D. restart service

Correct Answer: BC

QUESTION 3

An OceanStor 18000 storage system carries the VDI service. The read/write ratio of the front-end workload is 2:8. The
customer requires 20,000 IOPS to be offered. 10k rpm SAS disks (assuming that the average seek time is 3 ms) are
used, and RAID 5 is configured. In this scenario, which is the minimum number of disks that must be configured for the
storage system?

A. 600

B. 408

C. 387

D. 550

Correct Answer: D

QUESTION 4
A customer\\'s production network resources are tight, and the budget is small. The current customer wants to introduce

a backup solution in the existing configuration. Based on this, what is the recommended networking backup method is
most appropriate for this customer?
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A. lan-base

B. lan-free

C. server free
D. server base

Correct Answer: B

QUESTION 5

A company IT system administrator is responsible for the configuration management of OceanStor V3 storage system in
Huawei. In the scenario described, which of the following is the correct configuration of Smart Migration:

A. Configure LUN A and LUN B on Huawei OceanStor V3, create a snapshot for LUN A, and then use LUN A as the
source LUN and LUN B as the Target LUN

B. Configure the controllers that belong to LUN A and LUN B to be different on OceanStor V3, with LUN A as the source
LUN and LUN B as the target LUN

C. Huawei OceanStor V3 configures LUN A and LUN B, maps LUN B to a host, and then uses LUN A as the source
LUN and LUN B as the target LUN

D. On Huawei OceanStor V3, configure that thick LUN A and thin LUN B belong to the same controller, and LUN A is
the source LUN LUN B is the target LUN

Correct Answer: D

H13-629 V2.0 PDF Dumps H13-629 V2.0 Study Guide H13-629 V2.0 Exam
Questions

H13-629_V2.0 PDF Dumps | H13-629 V2.0 Study Guide | H13-629_V2.0 Exam Questions 3/3


https://www.leads4pass.com/h13-629_v2-0.html
https://www.leads4pass.com/h13-629_v2-0.html
https://www.leads4pass.com/h13-629_v2-0.html
https://www.leads4pass.com/h13-629_v2-0.html
http://www.tcpdf.org
https://www.leads4pass.com/h13-629_v2-0.html
https://www.leads4pass.com/h13-629_v2-0.html
https://www.leads4pass.com/h13-629_v2-0.html

